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Plot Sensor and FgRec Data
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P3-4

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R

07:45 278 150.0 | 1Ri%e07:45 B (KREAEREE)
08:40 278 150.0 = {Ri%@08:40 B (RFAEZSE)
09:50 278 150.0 E| {Rig@09:50 Bah (RE{ERSE)
11:00 278 150.0 B 1Ri%e11:00 B (KREAERSE)
12:05 278 150.0 =l {Rige12:05 B3 (RAERSE)
13:05 278 150.0 E| {Rig013:05 Bah (RE{ERSE)
13:55 278 150.0 | 1Ri%e13:55 B (KREAERSE)
14:45 278 150.0 (& =| 1BRige@14:45 Bzh (REERESE)
15:45 278 150.0 |Z=| 1BRige15:45 Bzh (REERESE)
21t 2502.0 (97%) 1350.0 3 WHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0

ERIASSPRIERL147.0 ml.

147.0), AIEERT—@E XA 5
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